Copyright 2007

MODEL : K1S-BS

00000
660000
0000000
0000009
5600009




Jenny

AIR COMPRESSOR

Parts List for Model K1S-BS Single Phase

NOTE: The quantity number indicates the total number of pieces required for a complete unit repair.
When ordering parts give compressor model, serial number and part number. Order assemblies when possible.

REF. NO.

1

2

10

11

12

13

14

15

16

NOT SHOWN

NOT SHOWN

Copyright 2006

PART NO.

DESCRIPTION

320-1037

421-1101

320-1121

120-1009

120-1116

122-1034

122-1126

120-1119

120-1018

130-1010

154-1209

120-1108

154-41.470

320-1008

120-1075

104-1126

610-1225

105-1209

BASE PLATE 20 X 8 ASSY ELECTRIC
PUMP,CMPRSR,PISTON,REPLCMT,BLUE,K
FILTER,W/DECALS,ASSY,G154S
SCREW,CAP,HEXHD,GR5,ST,PLTD,1/4-20X1-1/4
NUT,LOCK,FLANGE,HEX,SERR,ST,PLTD,1/4-20
NIPPLE,STEEL,SCH 40,1/4" X 5" L
CAP,HEX,MI,PLATED,1/4"NPT
NUT,LOCK,FLANGE,HEX,SERR,ST,PLTD,5/16-18
SCREW,FLANGE,HEX,SERR,ST,PLD,5/16-18X3/4
MOTOR,1HP,115-230/60/1,1725RPM,ODP
PULLEY,CI,SG,3.0PDA,5/8ID,AK32X5/8
KEY,STEEL,BLACK,3/16X3/16X 1-1/2" LENGTH

BELT,VEE,A43,4L-470

BELTGUARD,ELECTRIC,K,ASSY,BLUE,LOUVERED

WASHER,FLAT,STEEL,PLATED,5/16"
COVER,CLIP,PLASTIC,BLACK,0.062X7/16X1
KIT,ELEMENT,FILTER,G54E,PKG OF 4,G54EP

OIL,PUMP,SYNTHETIC,BLUE,1 QUART,ESQ

QTY.

Page 1 of 1



